Here’s the schematic. Not sure Kicad needs the DC supply and power symbols but they don’t interfere with circuit operation. Also I never sent a project before so I hope everything is included. 

Please note that sometimes the failure occurred on the second update to the spice model. That is the case is this report. Other times the failure occurred after three updates. 
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We are going to monitor the signals TestIN and TestOUT. The circuit should produce three output voltages based on the model loaded from the LIB folder. The TestIN signal is a 4V P-P signal. Each of the three models should produce the following outputs on TestOUT. You can review the models in the LIB directory.

P1MAX.lib Expected output about 4V P-P.

P1.lib Expected output about 2V P-P.

P1MIN.lib Expected output about 0V. Though I did not use this model for these tests.

FAILURE REPRODUCTION STEPS

1. Open Kicad and open the PotTest schematic.

2. Double click on the pot symbol to open the property dialog. It should look like this:
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Note that Spice_Lib_File and Sim.Library point to LIB\P1.lib. This model should produce a 2V P-P output. This is the file Spice loads after Kicad is started. The file, P1.lib, was the last file loaded from a previous session.

3. Close this dialog and open a simulator window. Inspect→Simulator.

4. In the simulator click Settings and add the following to the transient tab
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Click OK and run the simulator. Add signals TestIN and TestOUT. You should see the following chart. TestIN is about 4V P-P and TestOUT is abut 2V P-P as expected.
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Don’t close the simulation window. Navigate back to the schematic.

5. Double click on the pot symbol and then click on the Simulation Model button. Change the loaded model from P1.lib to P1MAX.lib. The Simulation Model dialog should look like this.
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Click OK to close this dialog window. Click OK to close the Symbol Properties dialog.

Then double click on the pot symbol to open the symbol Properties dialog once more. This is the start of the failure signature.
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Note that the Spice_Lib_File still points to the previous model file, P1.lib. The Sim.Library correctly points to the current simulation model, P1MAX.lib. BTW I tried manually changing the Spice_Lib_File to point to the correct file but this did not work. Parts of the simulator still read the original P1.lib file.

Navigate to the simulator window and RUN the simulation. The output looks like the previous window. Namely TestOUT is still 2V P-P. Note that sometimes the second simulation works correctly and a third iteration of loading spice models is necessary to reproduce the failure. Here is the simulation chart from the second iteration fail.
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Navigate back to the schematic editor. Double click the pot symbol. Hit the Simulation Model button. Then select the Pin Assignment tab. You should see the following. Note that the code is correct for P1MAX.lib. So it seems some sections of the program get the correct updated model information while other sections use the older model information.
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6. To prove that the simulator is still reading the original file and not updating correctly, manually edit P1.lib to look like P1MAX.lib. The code is shown in the above dialog. Edit, save and close P1.lib. Navigate to the simulator window and hit RUN. You should get the following output. Both TestIN and TestOUT are about 4V P-P.
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So the simulator or some section of the code is not using the new model definition for simulation.

